OSME---SENHEHERSHS  Dage
BT, BAEESRRAR

= AL 5 — S5 3R 35 230 3 SR Sk A
—. RSEZ., BT 170, £299)

1. fE355 BRI E&E R L.

— AR AR L) 6( Yo — IR A N 4( )o
T A K L) 5464( Yo AR E 25( Yo
R A 22 1 2040 1 Fir 75 AR TR 2 20( )o

2. 5 F2K+200 K=( YKk 3500 5% —500 7 =( )T o8
2 53 +30 Fh=( W 6 mi=( )T
2 43K —15 JEK=( VEK 36 Z=K+64 =K=( HEXK

3. SERG/NERMTCOMPAETEROR S, ML 7. 10 TFdE, BT T 2 /0
30 43, B E( SRR,

4. T BF8: 30 RFE, 11: 50 T¥E, mE EFTAET( )R
().

/Ti‘f“’

R R 9 4,

) Ao

ERTUS it%, Tk, EE, R THTED
T 1T, AEREESHEAE




OSmK--- S HEHERSHS g
T, WS ESREAR

o D w3, e
o attmbs AR AL wiRC ).

7. }j\ 1 EEWZ{* 3 /\g’ /D%XE( )o

8. /NERAEM—IERGE R, e 261 B T 216, BN ER
584, HBIEHAI)ZE A ( Yo

TAFRPNEREA 4500 K, FHEEAE 7000 K. FREEH A

5500 K.

(L) B S Je £ 28 A ( YK, BB b A 1 B 2 )
K, & )TKe

(2)ZL 2T 55 31 571 1) PE B8 A2 ( Ko

10. —HRERLZRILFH s — K 8 K, 98 6 KK 7T, W RATIX Rk
YRR — N ET T, EAET LK ( K

1. Z()ESMER RN FRZEN S 2 2. 3. 7. 9. 104 12, 18,
SNz LR F 255 2 1L 34 64 7+ 94 10, 11, Sk
i L ZE Bz LR 1 — FE A ( JEAGIE-N

12. REITHI S IES & 42212919850726006X, REITAFE( )%,

FENME—AL( ). R L)

SRS s, s, B, BT
2] ?ﬁ?ﬂﬁTﬂJéfhmqﬁﬁﬁd&%ﬁ




HRe
Aty

OSRG-S FEHERSES  ghiiss

e TE, BIREREESMERIR

1.

C REHIW EN, HEREO) G 15, k6 )

ﬁﬁ@%,%u}% ()
. 5240, 52—0 5 52x0 Mgt BAE A «C )
K5I K TR TR ()
.;auﬂ%iﬁéﬂkﬁ%%zamﬂ%ﬁmﬁéﬂkﬁ%%iﬁ%
99 (1) 5 A A S = ()M AR ()
T B R — s R R ()
. 3 Tk 3000 TTIREAE . «C )

v R (R IERE = T RHEAER S B) (R 2 70, JL 10 77)

1. 725x8 FRHIREA( )10,
A. 1 B. 2
C. 3 D. 0
2. NHEMETEAZR 3 AMEFE /N ETTTES R, Hob K s
(Do
A B D

- A AR ER 2> 0 BER s N (

1 1
A. - B. -
2 4
1 1
C. - D. -
6 8

SWELS e, o5 EE, ERTHITD

ST, BIAEREESMERR




OSmK--- S HEHERSHS g
1T, BAREESHRRE

4. 1TRPAIELC )o

A. R E B. 54
C. WZ—iiifR D. 1 100 X

5. UK 4 KRB ETFT BRI e — R, XA KTT
EREKAEZEC K,
A. 16 B. 12
C. 8 D. 4

VU 75 R A% AH, K350 12 BRI TR R IE TR 1

A, IR SARK. (6 77)
1K
)ik S

Fiv WoUE. (1845, 2125, 3855, 21 4)

1. HESHEH

2,3
= 160+230= 400x8= 206x3=
6 6
6 2 3
= 1—== 396x9= 2824356~
7 7 5

2. AR, WARZH .
A627—359=468x4= 406x5= 350x8=

4 1 — -
oy 0%, Fih, B, BRI

ShaRe ST, EONEESMEAR




OSRG-S FBHERSHES i
1T, BAREESHRRE

3. RTMHERRMAK. (BA: FEK)
[ 18

15

40

»

IS5 R, (1. 2 @i 8 4y, HARM 4 7, 328 47)

1. KxA

(D)ZEE AR SE— AR — 5K 5T, KRAT &2 D
LR B M /R 2

i | AR
AKHE | 556 JC
wT 19578
oA | 92570

Q)UK — A5, AR 51 1000 JT, MK E 2 bR

i_mﬁ ik, E5, IR TFHTED
ST, RS HEATE




OF~a5ei0
; f-'n'Ernf!—-

g Ik 3 - >
P Eds:

OEme--- i3 NFIEEERTPES
R T, BRREESERR

)

2. S(DULRZA TR TE, W4 3 41, AL 12 A
(DB FRI 5 4 4, 4G 2 N2

Q) REEASr 6 N, AT LA LA ?

3.m%ﬁé¢woﬁmﬁ$%,%~ﬁ§7é%%§éﬁ:%ﬁ%ﬁ

FHoREAMNZ, WRIVE TRABNILr2IL? 32 D s
H?

4. KRR 500 B AR, ST 4 K, BRM 106 E, &
Pz bEA RIS

SRS s, s, B, BT

g

1SRE T, BAEESRESE



OSRG-S FBHERSHES i
ST, AEREESRERR

5. =(H¥EA 32 NiT B 7 (BARDERD, A 24 NITT 1 (pE D
FARDY, A 5 ANPIFRERT 1o TR PRI 20 N ?

S e, ik, EER, AR FAETED
5% 1S T, A ESESE



OSmK--- S HEHERSHS g
1T, BAREESHRRE

£
—. 1. 2Kk W FK Fw
2. 5200 3 150 6000 5 10
3.9: 40 4.3 20
5. (D4 (2)108 (3)4
6. 7 1

7. > 8. 539

8
9. (1)2500 3000 3 (2)1500

10. 7 11. 10 12. 32 <
“. 1. x 2. x 3.4 4. x 5. x 6. x
—<1.B 2. C 3.B 4. B 5. B

I

5 4
Tis l.g 390 3200 618 7

2. 268 1872 2030 2800 IGEImK,

3600 640

N

3. (40+15+8)x2=126(JFK)

75+ 1. (1)556+195=760(Jt) 556+195=751(JL)
(2)1000—925="75(7T)
2. (D3x12+4=9(N) (2)3x12+6=6(41)

2.2 4 4 1
3. ZHI=" I——== 40-5x1=8(N)

4. 500—106x4="76(%&)

5. 32+24—5=51(\N)

4 1 — -
oy 0%, Fih, B, BRI

SIS (T, AEEESEAE



OS8R RN FENERSES o
ST, AAREESHEAR

BS e, T, B, BRI
% 19T, DAREESHEAE




